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https://www.100test.com/kao_ti2020/625/2021 2022 LR_E8 AF_
AD E6 B3 95 E5 88 c97 625230.htm #include gt. #include gt.
#include gt. #include gt. struct code_val{ char code.char val[20]. }.
constchar*p[]={/U 00 "S-E""E-ET""E-T""T - T*F","T
SF'"FS (BE)")"F > 1" }. const char TNT[ ]="*Q#ETF". //LRO O
OO0O000 constintM[][9]={//LRO LU OOOOO OOO
*OETFO O O 01234567800 0 O {0,0,4,0,5,0,1, 2,3}, //00 O
Oo0ds404000 {6,0,0,0,0,99}, //Accld 9901 OO {-2,7,0,-2,
0,-2},//r200 -200 OO {-4,-4,0,-4,0,-4},{0,0,4,0,5,0, 8, 2, 3}, {-6,-6,
0,-6,0,-6},{0,0,4,0,5,0,0,9,3},{0,0,4,0,5,0,0,0,10}, { 6, 0,
0,11}, {-1,7,0,-1,0,-1}, {-3,-3,0,-3, 0,-3}, {-5,-5, 0,-5, 0,-5} }. int
col(char).//0 OO O 0O OO void main() { int state[50]={0}. /]
0 0O 0O 0O charsymbol[50]={#}.//0 0 O 0O O inttop=0.//0 O O
[ OO ofstream cout("par_r.txt"). /00 000O00O000O

LI par_r.txtifstream cin("lex_r.txt"). // Olex rixt0 O 0O O 0O O O
O O structcode valt. /0000000000000 O
cingt.t.codegt.t.val. //CJ O OO O intaction. int1,j=0.//0 0O U O O
DO000000000 coutlt."step"lt.\tlt."00 OO OO "It\tt."O O
O"t\it"0 00 O"tendl//OO0 OO0 OOOOO dofcoutlt.j
It)It\t. //00 O stepU O O O O O for(i=0.ilt.It.It.=top.i
Jecoutlt.symbol[i]l. /0000000 0OO0OOOO
coutlt\tlt.t.codeltendl. /0D 00O 0O0OO0OOOOOOOONO
0 O 0O O action=M[state[top]][col(t.code)]. if(actionamp.gt.qgt.It.
0){//0 O if(strcmp(p[-action] 3,"¢ ")) //fe DU O 0OOOOOO



oot dndnd top=top-(strlen(p[-action])-3). //" - "1 [
O,000000030 state[top
1]=M[state[top]][col(p[-action][0])]. /U O O O 0O O O symbol[
top]=p[-action][0]. } else if(action==99){ //] [
coutlt.\tlt."Acc"lt.endl. break. } else{ //L1 O coutlt."Errin
main(It.It.It.(int)strlen(TNT).i ) if(c==TNTIi])return i. coutlt."Err
in col charlt.lt.&lt.endl. exit(0). /0 D 0O 0O }0O0OOOO:
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